
V BP 1
E 816655.370
N 148521.153

V BP 2
E 816987.735
N 148602.580

V BP 3
E 818071.390
N 148300.353

V BP 4
E 818535.093
N 147460.920

V BP 5
E 819320.390
N 147325.733

V BP 6
E 819549.641
N 147271.571

K
m
 =

 3+
385.004

K
m
 =

 3+
445.004

V BP 7
E 820307.294
N 147138.957

Curva BP 1
R 659.000
Sv 227.572
Ac 21.984309
Tan 114.930
Fr 9.947

Curva BP 2
R 1020.950
Sv 680.764
Ac 42.449483
Tan 353.581
Fr 59.494

Curva BP 3
R 804.600
Sv 563.628
Ac 44.595698
Tan 293.933
Fr 52.008

Curva BP 4
R 2170.000
Sv 73.511
Ac 2.156612
Tan 36.759
Fr 0.311

Curva BP 5
R 2180.000
Sv 68.020
Ac 1.986368
Tan 34.013
Fr 0.265

Curva BP 6
R 1500.000
Sv 651.521
Ac 27.651420
Tan 330.981
Fr 36.082

Curva BP 7
R 4842.500
Sv 651.853
Ac 8.569593
Tan 326.420
Fr 10.989

Clotoide BP 1
A 269.240
Rcl 110.000
AngF -5.313215
m 0.765
Tl 73.360
Tc 36.691
Xf 109.923
Yf 3.059
Ri 0.000
Rf 659.000

Clotoide BP 2
A 269.240
Rcl 110.000
AngF 5.313215
m 0.765
Tl 73.360
Tc 36.691
Xf 109.923
Yf 3.059
Ri 659.000
Rf 0.000

Clotoide BP 3
A 364.312
Rcl 130.000
AngF -4.053116
m 0.690
Tl 86.685
Tc 43.350
Xf 129.947
Yf 2.758
Ri 0.000
Rf 1020.950

Clotoide BP 4
A 364.312
Rcl 130.000
AngF 4.053116
m 0.690
Tl 86.685
Tc 43.350
Xf 129.947
Yf 2.758
Ri 1020.950
Rf 0.000

Clotoide BP 5
A 355.418
Rcl 157.000
AngF 6.211118
m 1.276
Tl 104.719
Tc 52.381
Xf 156.851
Yf 5.102
Ri 0.000
Rf 804.600

Clotoide BP 6
A 355.418
Rcl 157.000
AngF -6.211118
m 1.276
Tl 104.719
Tc 52.381
Xf 156.851
Yf 5.102
Ri 804.600
Rf 0.000

Clotoide BP 7
A 360.832
Rcl 60.000
AngF -0.880120
m 0.069
Tl 40.000
Tc 20.000
Xf 59.999
Yf 0.276
Ri 0.000
Rf 2170.000

Clotoide BP 8
A 360.832
Rcl 60.000
AngF 0.880120
m 0.069
Tl 40.000
Tc 20.000
Xf 59.999
Yf 0.276
Ri 2170.000
Rf 0.000

Clotoide BP 9
A 361.663
Rcl 60.000
AngF 0.876082
m 0.069
Tl 40.000
Tc 20.000
Xf 59.999
Yf 0.275
Ri 0.000
Rf 2180.000

Clotoide BP 10
A 361.663
Rcl 60.000
AngF -0.876082
m 0.069
Tl 40.000
Tc 20.000
Xf 59.999
Yf 0.275
Ri 2180.000
Rf 0.000

Clotoide BP 11
A 475.920
Rcl 151.000
AngF -3.204320
m 0.633
Tl 100.680
Tc 50.345
Xf 150.962
Yf 2.533
Ri 0.000
Rf 1500.000

Clotoide BP 12
A 475.920
Rcl 151.000
AngF 3.204320
m 0.633
Tl 100.680
Tc 50.345
Xf 150.962
Yf 2.533
Ri 1500.000
Rf 0.000

Clotoide BP 13
A 771.769
Rcl 123.000
AngF -0.808510
m 0.130
Tl 82.001
Tc 41.001
Xf 122.998
Yf 0.521
Ri 0.000
Rf 4842.500
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Km
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V BD 1
E 816654.418
N 148525.038

V BD 2
E 816987.801
N 148606.715

V BD 3
E 818074.087
N 148303.754

V BD 4
E 818537.660
N 147464.537

V BD 5
E 819321.190
N 147329.655

V BD 6
E 819550.446
N 147275.491

Km
 =

 3+
318.845

K
m
 =

 3+
386.687

K
m
 =

 3+
446.630

V BD 7
E 820309.450
N 147142.640

Curva BD 1
R 663.000
Sv 229.284
Ac 22.016122
Tan 115.799
Fr 10.037

Curva BD 2
R 1024.950
Sv 683.666
Ac 42.464025
Tan 355.097
Fr 59.770

Curva BD 3
R 800.600
Sv 560.424
Ac 44.563697
Tan 292.244
Fr 51.672

Curva BD 4
R 2174.000
Sv 73.711
Ac 2.158499
Tan 36.859
Fr 0.312

Curva BD 5
R 2176.000
Sv 67.843
Ac 1.984834
Tan 33.924
Fr 0.264

Curva BD 6
R 1504.000
Sv 653.661
Ac 27.668464
Tan 332.074
Fr 36.224

Clotoide BD 1
A 270.468
Rcl 110.336
AngF -5.297309
m 0.765
Tl 73.584
Tc 36.803
Xf 110.260
Yf 3.059
Ri 0.000
Rf 663.000

Clotoide BD 2
A 270.468
Rcl 110.336
AngF 5.297309
m 0.765
Tl 73.584
Tc 36.803
Xf 110.260
Yf 3.059
Ri 663.000
Rf 0.000

Clotoide BD 3
A 365.381
Rcl 130.253
AngF -4.045166
m 0.690
Tl 86.854
Tc 43.434
Xf 130.201
Yf 2.758
Ri 0.000
Rf 1024.950

Clotoide BD 4
A 365.469
Rcl 130.316
AngF 4.047109
m 0.690
Tl 86.896
Tc 43.455
Xf 130.263
Yf 2.761
Ri 1024.950
Rf 0.000

Clotoide BD 5
A 354.139
Rcl 156.651
AngF 6.228259
m 1.277
Tl 104.486
Tc 52.265
Xf 156.501
Yf 5.105
Ri 0.000
Rf 800.600

Clotoide BD 6
A 354.091
Rcl 156.608
AngF -6.226564
m 1.276
Tl 104.458
Tc 52.250
Xf 156.458
Yf 5.102
Ri 800.600
Rf 0.000

Clotoide BD 7
A 361.304
Rcl 60.046
AngF -0.879176
m 0.069
Tl 40.031
Tc 20.016
Xf 60.045
Yf 0.276
Ri 0.000
Rf 2174.000

Clotoide BD 8
A 361.304
Rcl 60.046
AngF 0.879176
m 0.069
Tl 40.031
Tc 20.016
Xf 60.045
Yf 0.276
Ri 2174.000
Rf 0.000

Clotoide BD 9
A 361.157
Rcl 59.942
AngF 0.876849
m 0.069
Tl 39.962
Tc 19.981
Xf 59.941
Yf 0.275
Ri 0.000
Rf 2176.000

Clotoide BD 10
A 361.157
Rcl 59.942
AngF -0.876849
m 0.069
Tl 39.962
Tc 19.981
Xf 59.941
Yf 0.275
Ri 2176.000
Rf 0.000

Clotoide BD 11
A 476.554
Rcl 151.000
AngF -3.195797
m 0.632
Tl 100.680
Tc 50.345
Xf 150.962
Yf 2.526
Ri 0.000
Rf 1504.000

Clotoide BD 12
A 476.554
Rcl 151.000
AngF 3.195797
m 0.632
Tl 100.680
Tc 50.345
Xf 150.962
Yf 2.526
Ri 1504.000
Rf 0.000
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